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A XdH
M S HSAUTIA (XH)
CHol: pISR AT (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Klefl & 862,409 871,728 29,319
CHAAH2IUX (XHH) 306,424 338,964 A32,540
HAY 2SN 306,424 338,964 A32,540
Y= = A& 202,691 238,324 N35,633
201 fer= 3| 59,341 94,974 A35,633
01 At 2|l 32,080 32,080 0
0 &Bt~Sd| 32,080
O % 28 S+
5,520,000 *14! 5,520
O olga 2 R=2(Y, 5, Y2X)
15,0002 x85* 122 1,440
O 3Nz 70 50,0002 x4 543 800
O dAtEHI=S 60,0003 x4 E+53] 1,200
O HHANRBE(SAIRX, BI|7, 28 =
) 50,0003 75123 4,200
O =A #¢ 30,0003 x65+53] 900
O Ed F(med, BAIl)
300,000 *5CH*23] 3,000
O #HHEFHI(ZBRE, ZgIH, SAD| 8) &
72 =&l 80,0002 *9LH+*32] 2,160
O d - 25J Xz 65,0003 * 122 780
O FLUFHIANAEZCIESY =258
240,000& * 122 2,880
O =8| dxz 350,000& * 122 4,200
O H=Xg2 28 S8+l
5,000,000& *14] 5,000
02 S3=gl 27,261 62,894 A35,633
0O 2322 2 HAl 27,261
O REz 2,530 x58A 128 1,761
O eful AlEg 55,000 * 122 660
O &= 13,800
=0 750,000 x 122 9,000
Sklgl2 300,000 * 12 3,600
HOIEEH 100,000 »12& 1,200
O BEA dot== 100,000& * 122 1,200
O HU=sX2 dot=rg
800,000 x 12 9,600
O RedYs= 20,0002~ 122 240
202 04| 41,160 41,160
01 =LHOLI 5,280 5,280
O ezl U 2oyl
80,000& x5 E+02 3,600
O a=0eges 20,0002 x 14 +6E 1,680
02 X0 35,880 35,880 0




A XdH
A HAF2IYXA(XHH)
CHol: pISR AT (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O A0dsl 230,000 x13F «12& 35,880
301 EtE N = 98,690 98,690
07 S8 -0 - HES2d3 86,690 86,690
Ooggsgds=s 84,240
O =< 300,000 x18H 122 64,800
O &ois 300, 0002 « 18 <22 10,800
O 3e=¢ 20,0002 x18E *23| * 12 8,640
O Eesgds 25,0002 x40 *23] 2,450
11 #AIAHIXIZ S 12,000 12,000 0
[ SHE ZQADEX Ay
10,0002 %508 243 12,000
405 KHaHE SH 3,500 3,500
01 Tt =S F = 3,500 3,500
O A2& Z)| 2 HIE 7Y
3,500,000& 14 3,500
AL R AIE EHl =X 103,733 100,640 3,093
101 2I24H| 48,978 45,874 3,104
04 JIZtNZ22 NS+ 48,978 45,874 3,104
O A &2 o2y 13,200
O Jlzs 1,100,000 x1E 128 13,200
0401 28 1,499
O dI28=z RE=2
13,200, 0002 +3.6/100 476
O LA SFEE FE=
476,000&*12.27/100 59
O =BH=EEE RE=
13,200, 0002 4.5/ 100 504
O D822 2Y3
13,200, 0002 +1.8/100 238
O tEgzs F8=
13,200,000 *1/100 132
O soisiz2 2el IRy 34,279
O JlZs 76,9602 x2EH 2002 30,784
O dZ28=s R85
30,784,000& +3.6/100 1,109
O LIeYLE= FE=
1,109,000& +12.27/100 137
O =BH=EE8 RE=
30,784,000& *4.5/100 1,386
O 1E28s F8=2
30,784,000& +1.8/100 555
O U8z #8=2
30,784,000& *1/100 308
201 =3 53,255 53,266 A1
2 S5=2g4l 53,255 53,266 A




A XdH
M S HSAUTIA (XH)
CHol: pISR AT (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2222 £ HMA 19,210
O KNSXHAl 80,0002 <2CH 160
O NSA BAtz 50,0002 *3H 150
O SFNERE= 50,0002 1CH 50
O go=xs (=)
1,450& 1,300 £ =10 18,850
O A2 &BI=Xsl 6,045
O A 2,500 910m’ 2,275
O =Xlg/2 2,500 x700m’ 1,750
O g&3X 110,000& 22 220
O WFI 50,0002 x3CH*23] 300
O AIABdEHYT] FX22l
800,000 *14] 800
O H=X2 22 RAEs =8
700,000 *14] 700
O xt& - et 28,000
O g2 (RFU, UKL, 42234
) 28,000
St= Xt 4,000,000 1CH 4,000
ESEAWN; 20,000,000 = 1CH 20,000
= XXt 4,000,000 ~1CH 4,000
206 M=l 1,500 1,500
01 MZH| 1,500 1,500
O JIEH X & 50,0002 x105+32] 1,500
=QIHOIA (K2 D) 412,032 390,406 21,626
FOIE ALY 412,032 390,406 21,626
HEH SAEH] Y FUEHAAIS 109,872 88,246 21,626
101 @124H| 34,172 32,546 1,626
M ORINZZE2NSE S 34,172 32,546 1,626
O AEHE sF8H 21FY
76,9603 x0& 362 24,936
O 4383 & 2l 2U2FY
76,9603 x38 x40 9,236
206 M=l 5,700 5,700
01 M= H| 5,700 5,700
Z2xd A
100,000& x55+32 1,500
022 7 300&»7,000=+23] 4,200
401 AIEHIX R0 70,000 50,000 20,000
01 A28l 70,000 50,000 20,000
0 A sZ 3l 5,000,000& 42| 20,000
O =2Eaag 2857 & 8
5,000,000 1024 50,000
sSIIBAIE =E - FH| 161,152 161,152 0




A XellH
M FOIHOIAI (XI22)
CHPl: ZQITOI ALY (Srol: &l
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
401 AIEBIZ20HbI 161,152 161,152
01 Al&Hl 160,000 160,000
O Xl A=l Det=E =2 ZHIZA
20,000,000 14! 20,000
O XA 2te1e| s4HFE =2 8IS
Al 11,000,000 14 11,000
O Xelle 2412l st& = =2 ZHISA
10,000,000 & * 1A 10,000
O] Xedl™ wiel Wt =2 ZdlSA
15,000,000 & 14! 15,000
O XA ==22| S+US =2 EUISAt
15,000,000 14| 15,000
O Xels =332 Ots3l2 ¢ =2 &4l
= 4,000,000 »14! 4,000
O Xale &4212 =2 2 s2 FHISAM
5,000,000 14 5,000
O XdH obi1el Jtes s2 JUI3A
20,000,000 14 20,000
O Xl 232l S8 & =2 ZHISM
20,000,000 * 14! 20,000
O Xale Oldel S ME & stil==2
ZHIZA 20,000,000& 14! 20,000
O Xd™ tHeel 08 s2 SUlSA
15,000,000 14 15,000
O Xld™ tHEel 20HE == ZHIZA
5,000,000 » 14! 5,000
03 Al CHHI 1,152 1,152 0
O AIE 200l 160,000,000 *0.72/100 1,152
22 FR=RAMY 141,008 141,008
401 A& B2 20| 141,008 141,008
01 AlEHI 140,000 140,000
O XA HNEel == sZ2EHISA
13,000,000 & 14 13,000
O Xells &222] H2ES2 sZ2ZHISA
20,000,000 * 14! 20,000
O XA tHeel 8= sZ2EHISA
20,000,000& * 14! 20,000
O XdH A=L2e| 0t & sZ2EHISAL
12,000,000 & 14 12,000
O Xells AlEee] 25 AFHZHISA
13,000,000 & * 14! 13,000
O Xell® Gbfiel <= =2 ZBISA
10,000,000& * 14! 10,000
O Xell® odbiee] 2280l2 =2 & AIHE
HIZ At 12,000,000 & * 14 12,000
O Xals 23el cleHits & =2 EHIS
At 12,000,000 & 14! 12,000




A XdH
A FEAAG (RHIEH)
s FREGAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EENEEESEREETED
12,000,000& * 14 12,000
O Xl K22 2801= B2 ZHISA
16,000,000 * 14 16,000
03 Al 20HHI 1,008 1,008 0
O AIE 20 140,000,000& *0.72/100 1,008
HY2IZHI(XK2) 143,953 142,358 1,595
eI =g 103,497 101,842 1,655
el (XH) 103,497 101,842 1,655
101 21A4H| 103,497 101,842 1,655
01 2= 103,497 101,842 1,655
0 232244 103,497
O AlRtel2say
12,3213 *x14B+50A1 2t 12 103,497
=3l 40,456 40,516 260
Jl23tl(Xleed) 40,456 40,516 260
201 Ler23| 27,520 27,580 260
01 At2teltl 27,520 27,580 260
0 =2g9+< 14,430
O =2l 30,0002 x 12 =249 7,470
O «AH] 60,0002« 1 =116 6,960
U =€t 10,640
O ¢=0eg & MoliBla2f S
8,000 14 »05&! 10,640
O iz 2,450
O A8 FHl XSt
150,000 *32] 450
O Mah2red ISRt
2,000,000 %14 2,000
202 04dl 376 376
01 2L AL 376 376
O MEgMds-gs oyl 47,0003 82 376
203 =4l 10,160 10,160
01 D22 HARFA| 6,600 6,600
O XelHs 550,000 * 122 6,600
02 SRIHAA =T 560 560 0
O HJADIEE 40,000 *14H 560
MU A2 LRFAI 3,000 3,000 0
O X e 250,000 x 122 3,000
204 AR A 2,400 2,400
01 MM SR+ A| 2,400 2,400
0% 150,000 «12& 1,800
O 289 50,000& * 122 600




